METRIC HEX NUTS STAINLESS 18-8SS

METRIC NYLON INSERT LOCKNUTS 18-8SS

METRIC ACORN NUTS 18-85S

METRIC WING NUTS 18-8SS

METRIC FLAT WASHERS 18-85S

METRIC SPLIT LOCK WASHERS 18-8S5

METRIC HEX CAP SCREWS 18-8S5

METRIC MACHINE SCREWS PAN HEAD PHILLIPS 18-8SS
METRIC MACHINE SCREWS FLAT PHIL 18-85S

METRIC SOCKET HEAD CAP SCREWS 18-85S

METRIC BUTTON SOCKET CAPS 18-8SS

METRIC FLAT SOCKET CAPS 18-8SS5

Grattan

FASTENING PRODUCTS



METRIC STAINLESS

AN
(O)
&/
~ METRIC HEX NUTS STAINLESS 18-8SS
GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
240001 834020 METRIC HEX NUTS 18-8SS M3-0.50 100 PT 834
240002 834030 METRIC HEX NUTS 18-8SS M4-0.70 100 PT 834
240003 834040 METRIC HEX NUTS 18-8SS M5-0.80 100 PT 834
240004 834060 METRIC HEX NUTS 18-8SS M6-1.00 100 PT 834
240005 834080 METRIC HEX NUTS 18-8SS M8-1.25 100 PT 834
240006 834100 METRIC HEX NUTS 18-8SS M10-1.50 100 PT 834

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

)
@
L
-
=
s
)
)
o
l—
L
=




METRIC STAINLESS

METRIC NYLON INSERT LOCKNUTS 18-85S

SRATIMN 881 pescrupron 0 W, Ty
240020 561010 NYLON INSERT THIN LOCKNUTS 18-8SS M4-0.70 100 PT 561
240021 561020 NYLON INSERT THIN LOCKNUTS 18-8SS M5-0.80 100 PT 561
240022 561030 NYLON INSERT THIN LOCKNUTS 18-8SS M6-1.00 100 PT 561
240023 561040 NYLON INSERT THIN LOCKNUTS 18-8SS M8-1.25 100 PT 561
240024 561050 NYLON INSERT THIN LOCKNUTS 18-8SS M10-1.50 100 PT 561

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

)
@
L
-
=
s
)
)
o
l—
L
=

b. 1



METRIC STAINLESS

~ METRIC ACORN NUTS 18-8SS

GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
240040 570032 METRIC ACORN NUTS 18-8SS M4-0.70 100 PT 570
240041 570036 METRIC ACORN NUTS 18-8SS M5-0.80 100 PT 570
240042 570038 METRIC ACORN NUTS 18-8SS M6-1.00 100 PT 570
240043 570042 METRIC ACORN NUTS 18-8SS M8-1.25 100 PT 570
240044 570046 METRIC ACORN NUTS 18-8SS M10-1.50 100 PT 570

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

)
@
L
-
=
s
)
)
o
l—
L
=




METRIC STAINLESS

METRIC WING NUTS 18-8SS

SRATIMN 881 pescrupron 0 W, Ty
240060 V79040  WING NUTS 18-8SS M4-0.70 100 PT V79
240061 V79050 WING NUTS 18-8SS M5-0.80 100 PT V79
240062 V79060 WING NUTS 18-8SS M6-1.00 100 PT V79
240063 V79080  WING NUTS 18-8SS M8-1.25 100 PT V79
240064 V79100 WING NUTS 18-8SS M10-1.50 100 PT V79

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

)
@
L
-
=
s
)
)
o
l—
L
=

d. 1



METRIC STAINLESS

METRIC FLAT WASHERS 18-8SS

SRATIMN 881 pescrupron 0 W, Ty
250020 369016 FLAT WASHER 18-8SS M3 100 PT 369
250021 369018 FLAT WASHER 18-8SS M4 100 PT 369
250022 369020 FLAT WASHER 18-8SS M5 100 PT 369
250023 369021 FLAT WASHER 18-8SS M6 100 PT 369
250024 369023 FLAT WASHER 18-8SS M8 100 PT 369
250025 369024 FLAT WASHER 18-8SS M10 100 PT 369

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

)
@
L
-
=
s
)
)
o
l—
L
=




METRIC STAINLESS

% METRIC SPLIT LOCK WASHERS 18-85S

SRATIMN 881 pescrupron 0 W, Ty
250001 836030 SPLIT LOCK WASHERS 18-8SS M3 100 PT 836
250002 836035 SPLIT LOCK WASHERS 18-8SS M4 100 PT 836
250003 836040  SPLIT LOCK WASHERS 18-8SS M5 100 PT 836
250004 836060 SPLIT LOCK WASHERS 18-8SS M6 100 PT 836
250005 836080 SPLIT LOCK WASHERS 18-8SS M8 100 PT 836
250006 836100 SPLIT LOCK WASHERS 18-8SS M10 100 PT 836

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

)
@
L
-
=
s
)
)
o
l—
L
=

f.1



METRIC STAINLESS

METRIC HEX CAP SCREWS 18-8SS

iy

PARTS | paRT# DESCRPTION siE QT GODE  GODE

230001 830017 HEXBOLTS 18-8SS M4-0.70 X 10 100 PT 830

230002 830018 HEXBOLTS 18-8SS M4-0.70 X 12 100 PT 830

230003 830020 HEXBOLTS 18-8SS M4-0.70 X 20 100 PT 830

230004 830021  HEX BOLTS 18-8SS M4-0.70 X 25 100 PT 830

230005 830023 HEXBOLTS 18-8SS M4-0.70 X 30 100 PT 830

230007 830050 HEXBOLTS 18-8SS M5-0.80 X 10 100 PT 830

230008 830056 HEX BOLTS 18-8SS M5-0.80 X 12 100 PT 830 %
230009 830074 HEXBOLTS 18-8SS M5-0.80 X 20 100 PT 830 H
230010 830081 HEXBOLTS 18-8SS M5-0.80 X 25 100 PT 830 5
230011 830086  HEX BOLTS 18-8SS M5-0.80 X 30 100 PT 830 5
230013 830128 HEXBOLTS 18-8SS M6-1.00 X 10 100 PT 830 (&)
230014 830134 HEXBOLTS 18-8SS M6-1.00 X 12 100 PT 830 E
230015 830146 HEX BOLTS 18-8SS M6-1.00 X 16 100 PT 830 g
230016 830152 HEXBOLTS 18-8SS M6-1.00 X 20 100 PT 830

230017 830158 HEXBOLTS 18-8SS M6-1.00 X 25 100 PT 830

230018 830164 HEX BOLTS 18-8SS M6-1.00 X 30 100 PT 830

230019 830123 HEXBOLTS 18-8SS M6-1.00 X 45 100 PT 830

230020 830224 HEXBOLTS 18-8SS M8-1.256 X 12 100 PT 830

230021 830236 HEX BOLTS 18-8SS M8-1.25 X 16 100 PT 830

230022 830242 HEXBOLTS 18-8SS M8-1.25 X 20 100 PT 830

230023 830248 HEXBOLTS 18-8SS M8-1.25 X 25 100 PT 830

230024 830254 HEXBOLTS 18-8SS M8-1.25 X 30 100 PT 830

230025 830260 HEXBOLTS 18-8SS M8-1.25 X 35 100 PT 830

230026 830225 HEXBOLTS 18-8SS M8-1.25 X 40 100 PT 830

230027 830272 HEXBOLTS 18-8SS M8-1.25 X 45 100 PT 830

230028 830278 HEXBOLTS 18-8SS M8-1.25 X 50 100 PT 830

230029 830290 HEXBOLTS 18-8SS M8-1.25 X 60 50 PT 830

230030 830344 HEXBOLTS 18-8SS M10-1.50 X 20 100 PT 830

230031 830350 HEXBOLTS 18-8SS M10-1.50 X 25 100 PT 830

230032 830356 HEX BOLTS 18-8SS M10-1.50 X 30 100 PT 830

230033 830368 HEXBOLTS 18-8SS M10-1.50 X 40 50 PT 830

230034 830380 HEXBOLTS 18-8SS M10-1.50 X 50 50 PT 830

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com g. 1



METRIC STAINLESS

METRIC MACHINE SCREWS PAN HEAD PHILLIPS 18-8SS

PARTS | paRT# DESCRPTION siE QT GODE  GODE

260001 676101 PAN PHIL MACHINE SCREWS 18-8SS M3-0.50 X 6 100 PT 676

260002 676103  PAN PHIL MACHINE SCREWS 18-8SS M3-0.50 X 10 100 PT 676

260003 676106  PAN PHIL MACHINE SCREWS 18-8SS M3-0.50 X 20 100 PT 676

260004 676126  PAN PHIL MACHINE SCREWS 18-8SS M4-0.70 X 6 100 PT 676

260005 676129  PAN PHIL MACHINE SCREWS 18-8SS M4-0.70 X 12 100 PT 676

260006 676131 PAN PHIL MACHINE SCREWS 18-8SS M4-0.70 X 20 100 PT 676

260007 676132  PAN PHIL MACHINE SCREWS 18-8SS M4-0.70 X 25 100 PT 676 g
260008 676152  PAN PHIL MACHINE SCREWS 18-8SS M5-0.80 X 10 100 PT 676 H
260009 676154  PAN PHIL MACHINE SCREWS 18-8SS M5-0.80 X 16 100 PT 676 5
260010 676155  PAN PHIL MACHINE SCREWS 18-8SS M5-0.80 X 20 100 PT 676 E
260011 676156  PAN PHIL MACHINE SCREWS 18-8SS M5-0.80 X 25 100 PT 676 (&)
260012 676157  PAN PHIL MACHINE SCREWS 18-8SS M5-0.80 X 30 100 PT 676 E
260013 676178  PAN PHIL MACHINE SCREWS 18-8SS M6-1.00 X 12 100 PT 676 g
260014 676179  PAN PHIL MACHINE SCREWS 18-8SS M6-1.00 X 16 100 PT 676

260015 676180  PAN PHIL MACHINE SCREWS 18-8SS M6-1.00 X 20 100 PT 676

260016 676181 PAN PHIL MACHINE SCREWS 18-8SS M6-1.00 X 25 100 PT 676

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

h. 1



METRIC STAINLESS

METRIC MACHINE SCREWS FLAT PHIL 18-85S

PARTS | paRT# DESCRPTION siE QT GODE  GODE

270001 674010  FLAT PHIL MACHINE SCREWS 18-8SS M3-0.50 X 6 100 PT 674

270002 674012  FLAT PHIL MACHINE SCREWS 18-8SS M3-0.50 X 10 100 PT 674

270003 674015  FLAT PHIL MACHINE SCREWS 18-8SS M3-0.50 X 20 100 PT 674

270004 674036  FLAT PHIL MACHINE SCREWS 18-8SS M4-0.70 X 6 100 PT 674

270005 674039  FLAT PHIL MACHINE SCREWS 18-8SS M4-0.70 X 12 100 PT 674

270006 674041 FLAT PHIL MACHINE SCREWS 18-8SS M4-0.70 X 20 100 PT 674

270007 674042  FLAT PHIL MACHINE SCREWS 18-8SS M4-0.70 X 25 100 PT 674 g
270008 674062  FLAT PHIL MACHINE SCREWS 18-8SS M5-0.80 X 10 100 PT 674 E
270009 674064  FLAT PHIL MACHINE SCREWS 18-8SS M5-0.80 X 16 100 PT 674 5
270010 674065  FLAT PHIL MACHINE SCREWS 18-8SS M5-0.80 X 20 100 PT 674 5
270011 674066  FLAT PHIL MACHINE SCREWS 18-8SS M5-0.80 X 25 100 PT 674 (&)
270012 674067  FLAT PHIL MACHINE SCREWS 18-8SS M5-0.80 X 30 100 PT 674 E
270013 674087  FLAT PHIL MACHINE SCREWS 18-8SS M6-1.00 X 12 100 PT 674 g
270014 674088  FLAT PHIL MACHINE SCREWS 18-8SS M6-1.00 X 16 100 PT 674

270015 674089  FLAT PHIL MACHINE SCREWS 18-8SS M6-1.00 X 20 100 PT 674

270016 674090  FLAT PHIL MACHINE SCREWS 18-8SS M6-1.00 X 25 100 PT 674

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



METRIC STAINLESS

METRIC SOCKET HEAD CAP SCREWS 18-8SS

A

VYWV

PARTS | paRT# DESCRPTION siE QT GODE  GODE

280001 538024 SOCKET HEAD CAP SCREWS 18-8SS M4-0.70 X 10 100 PT 538

280002 538026  SOCKET HEAD CAP SCREWS 18-8SS M4-0.70 X 12 100 PT 538

280003 538030 SOCKET HEAD CAP SCREWS 18-8SS M4-0.70 X 20 100 PT 538

280004 538032 SOCKET HEAD CAP SCREWS 18-8SS M4-0.70 X 25 100 PT 538

280005 538034 SOCKET HEAD CAP SCREWS 18-8SS M4-0.70 X 30 100 PT 538

280007 538050 SOCKET HEAD CAP SCREWS 18-8SS M5-0.80 X 10 100 PT 538

280008 538052 SOCKET HEAD CAP SCREWS 18-8SS M5-0.80 X 12 100 PT 538 %
280009 538056 SOCKET HEAD CAP SCREWS 18-8SS M5-0.80 X 20 100 PT 538 E
280010 538058 SOCKET HEAD CAP SCREWS 18-8SS M5-0.80 X 25 100 PT 538 5
280011 538060 SOCKET HEAD CAP SCREWS 18-8SS M5-0.80 X 30 100 PT 538 5
280014 538074 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 10 100 PT 538 (&)
280015 538652 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 14 100 PT 538 E
280016 538078 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 16 100 PT 538 g
280017 538653 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 18 100 PT 538

280018 538080 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 20 100 PT 538

280019 538082 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 25 100 PT 538

280020 538084 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 30 100 PT 538

280021 538086 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 35 100 PT 538

280022 538088 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 40 100 PT 538

280023 538090 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 45 100 PT 538

280024 538092 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 50 100 PT 538

280025 538657  SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 55 100 PT 538

280026 538094 SOCKET HEAD CAP SCREWS 18-8SS M6-1.00 X 60 100 PT 538

280027 538107 SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 10 100 PT 538

280028 538108 SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 12 100 PT 538

280029 538672  SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 14 100 PT 538

280030 538110  SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 16 100 PT 538

280031 538673 SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 18 100 PT 538

280032 538112  SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 20 100 PT 538

280033 538114  SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 25 100 PT 538

280034 538116  SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 30 100 PT 538

280035 538118  SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 35 100 PT 538

280036 538120 SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 40 100 PT 538

280037 538124  SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 50 100 PT 538

280038 538126 = SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 55 100 PT 538

280039 538128 SOCKET HEAD CAP SCREWS 18-8SS M8-1.25 X 60 100 PT 538

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513 .
grattanfasteners.com 1



METRIC STAINLESS

O

METRIC BUTTON SOCKET CAPS 18-8SS

PARTS | paRT# DESCRPTION siE QT GODE  GODE

290001 824024 BUTTON SOCKET CAPS 18-8SS M4-0.70 X 10 100 PT 824

290002 824026 BUTTON SOCKET CAPS 18-8SS M4-0.70 X 12 100 PT 824

290003 824030 BUTTON SOCKET CAPS 18-8SS M4-0.70 X 20 100 PT 824

290004 824032 BUTTON SOCKET CAPS 18-8SS M4-0.70 X 25 100 PT 824

290005 824034 BUTTON SOCKET CAPS 18-8SS M4-0.70 X 30 100 PT 824

290006 824050 BUTTON SOCKET CAPS 18-8SS M5-0.80 X 10 100 PT 824

290007 824052 BUTTON SOCKET CAPS 18-8SS M5-0.80 X 12 100 PT 824 g
290008 824056 BUTTON SOCKET CAPS 18-8SS M5-0.80 X 20 100 PT 824 E
290009 824058 BUTTON SOCKET CAPS 18-8SS M5-0.80 X 25 100 PT 824 5
290010 824060 BUTTON SOCKET CAPS 18-8SS M5-0.80 X 30 100 PT 824 5
290011 824066 BUTTON SOCKET CAPS 18-8SS M6-1.00 X 10 100 PT 824 (&)
290012 824068 BUTTON SOCKET CAPS 18-8SS M6-1.00 X 12 100 PT 824 E
290013 824070 BUTTON SOCKET CAPS 18-8SS M6-1.00 X 16 100 PT 824 g
290014 824072 BUTTON SOCKET CAPS 18-8SS M6-1.00 X 20 100 PT 824

290015 824074 BUTTON SOCKET CAPS 18-8SS M6-1.00 X 25 100 PT 824

290016 824076  BUTTON SOCKET CAPS 18-8SS M6-1.00 X 30 100 PT 824

290017 824084 BUTTON SOCKET CAPS 18-8SS M6-1.00 X 40 100 PT 824

290018 824086 BUTTON SOCKET CAPS 18-8SS M6-1.00 X 45 100 PT 824

290019 824088 BUTTON SOCKET CAPS 18-8SS M6-1.00 X 50 100 PT 824

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

k.1



METRIC STAINLESS

METRIC FLAT SOCKET CAPS 18-8SS

PARTS | paRT# DESCRPTION siE QT GODE  GODE

292001 823024  FLAT SOCKET CAPS 18-8SS M4-0.70 X 10 100 PT 823

292002 823026  FLAT SOCKET CAPS 18-8SS M4-0.70 X 12 100 PT 823

292003 823030 FLAT SOCKET CAPS 18-8SS M4-0.70 X 20 100 PT 823

292004 823032  FLAT SOCKET CAPS 18-8SS M4-0.70 X 25 100 PT 823

292005 823034  FLAT SOCKET CAPS 18-8SS M4-0.70 X 30 100 PT 823

292006 823050  FLAT SOCKET CAPS 18-8SS M5-0.80 X 10 100 PT 823

292007 823052  FLAT SOCKET CAPS 18-8SS M5-0.80 X 12 100 PT 823 g
292008 823056  FLAT SOCKET CAPS 18-8SS M5-0.80 X 20 100 PT 823 H
292009 823058  FLAT SOCKET CAPS 18-8SS M5-0.80 X 25 100 PT 823 5
292010 823060  FLAT SOCKET CAPS 18-8SS M5-0.80 X 30 100 PT 823 5
292011 823074  FLAT SOCKET CAPS 18-8SS M6-1.00 X 10 100 PT 823 (&)
292012 823076  FLAT SOCKET CAPS 18-8SS M6-1.00 X 12 100 PT 823 E
292013 823078  FLAT SOCKET CAPS 18-8SS M6-1.00 X 16 100 PT 823 g
292014 823080  FLAT SOCKET CAPS 18-8SS M6-1.00 X 20 100 PT 823

292015 823082  FLAT SOCKET CAPS 18-8SS M6-1.00 X 25 100 PT 823

292016 823084  FLAT SOCKET CAPS 18-8SS M6-1.00 X 30 100 PT 823

292017 823086  FLAT SOCKET CAPS 18-8SS M6-1.00 X 35 100 PT 823

292018 823088  FLAT SOCKET CAPS 18-8SS M6-1.00 X 40 100 PT 823

292019 823090 FLAT SOCKET CAPS 18-8SS M6-1.00 X 45 100 PT 823

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



